

Consequences:

let's compute

$$\sum_{P \in f^{-1}(\bar{i})} (e_P - 1) \quad \text{and} \quad \sum_{P \in f^{-1}(\bar{j})} (e_P - 1)$$

(this was done in the proof of the genus formula in Lecture 5, but now we have a more detailed look)

$$\sum_{P \in f^{-1}(\bar{i})} (e_P - 1) = 0 \cdot \varepsilon_2 + 1 \cdot \#\{P \in f^{-1}(\bar{i}): P \text{ non-elliptic}\}$$

↑
ell. points
of order 2 on $X(\Gamma)$
have $e_P = 1$, so
they don't contribute

↑
let's
denote
this number
by X

On the other hand (see Lecture 4) we have

$$d = \sum_{P \in f^{-1}(\bar{i})} e_P = 1 \cdot \varepsilon_2 + 2 \cdot X$$

$$\Rightarrow X = \frac{d - \varepsilon_2}{2} \Rightarrow \sum_{P \in f^{-1}(\bar{i})} (e_P - 1) = \frac{d - \varepsilon_2}{2}$$

Similarly,

$$\sum_{P \in f^{-1}(\bar{j})} (e_P - 1) = 0 \cdot \varepsilon_3 + 2 \cdot \#\{P \in f^{-1}(\bar{j}): P \text{ non-ell.}\}$$
$$= 2 \cdot X$$

$$d = \sum_{P \in f^{-1}(\bar{j})} e_P = \varepsilon_3 + 3 \cdot X$$

$$\Rightarrow X = \frac{d - \varepsilon_3}{3} \Rightarrow \sum_{P \in f^{-1}(\bar{j})} (e_P - 1) = \frac{2}{3}(d - \varepsilon_3)$$